ROIINO. eeveennnnnas

B
682
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NOTE : Autempt any two parts from each question. All
questions carry equal marks.
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Show by mathematical induction that :
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Find the language L (G) over {a, b}
generated by the grammar G = ({a, b},
{S,C}, S, P) where P consists of S = a C a,
C—aCatdic~=b.
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A speaks the truth in 75% cases and B
speaks the truth in 80% of the cases. In what
percentage of cases are they likely to
contradict each other in stating the same
fact ?

(3)
w11
Unit— 11

2. (%) frwifea svera % fav uw =man et
ufteg 3 Hif—

A

SN

[> 7 E

Find a minimum Hamiltonian circuit for the
following graph :
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If 1 is the set of non-zero integers and g
relation R is defined by aRyif v = ., where
%,y €1 then, is the relation R an equivalence
relation ?

WCAHG = (V,E), V = V1.V2,v3, vy, vs),

E = {(V1,Va}, (V}, Vs), (V2, V1), (Va, V),
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If a graph G = (V, E) is defined by
V= {ViVo.VaVy, V) E = {(V1, Va3,
Vi, Vs), (Va, V3), (Va, Va), (V3, Vy),
(V3, Vs), (Va, Vs)}IVI=5|E|= 7, then
find the adjacency matrix and incidence
matrix of the graph G.
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Design a finite state machine having an
output of 1 exactly when the input-sequence
ends with the digits 101.
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Define finite state machine and construct the
state graph in the following state table :
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AC" - af+| (Abr) + br (Aar).
Let C = ab. Show that :
AC,=a, 4 (Ab)) + b, (Aa,),
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Ar32~apgy = 2a,= 12,
Solve the following difference equation :
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Ay 42~ Oty +8a,=0,fem g ap=0,a=2.
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Solve the following difference equation by
using generating function method :

@y 42— 604 +8a, =0,
Given that ; ap=0,a =2,
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Show that very Boolean function can be
written as the sum of minimal Boolean
functions,
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By using second method find the Boolean, if
possible :

2
R

(H) U T H 3 4eq 991 UF d2d A ¥ I W uE
Zar W o e fan gam ¥ 1 wRay & g
T TR wE & fE o e, dz@ 9w R
Haifera € o UF-gE § w=aE B

A hall has 3 doors and a central lamp. At
each door, a switch is provided. Design a
circuit in which each of these three switches
can control the lamp independently of the
other.
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